
Giải bài tập toán 6 tập 1 phần số học - Chương 2: Số Nguyên  
Luyện tập trang 87 

Giải toán lớp 6 tập 1 - bài 67 trang 87 sách giáo khoa 

Đề bài: 

Tính: 

a) (-37) + (-112)        b) (-42) + 52         c) 13 - 31 

d) 14 - 24 - 12          e) (-25) + 30 - 15 

Đáp án: 

a) (-37) + (-112) = -(37 + 112) = -149 

b) (-42) + 52 = 52 - 42 = 10 

c) 13 - 31 = -(31 - 13) = -18 

d) 14 - 24 - 12 = (14 - 24) - 12 = -(24 - 14) - 12 

= -10 - 12 = -(10 + 12) = -22 

e) (-25) + 30 - 15 = -25 + 15 = -(25 - 15) = -10 

hoặc:              = 30 - 25 - 15 = 5 - 15 = -10 
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